NORTHEAST WOODFORD WATER DISTRICT

225-A South Main Street Versailles, Kentucky 40383 859-873-7334

September 1, 2009



Public Service Commission P.O. Box 615 Frankfort, Kentucky 40602 2009-00356

re: Tariff Revisions

To the COMMISSION:

Enclosed please find our filing for our tariff for tap-on fees. The exhibits are as follows:

- 1) Cost Work Sheet
- 2) Tariff Sheet
- 3) Certification of Notice to Public
- 4) Notice to Public

By a copy of this letter I am notifying the Attorney General of our filing. If you have any questions or need additional information please contact Warner Broughman at (859) 271-1778.

Yours truly,

John S. Davis, Chairman

JSD:pac

Cc: Dale Gatewood, Mgr.

Warner Broughman, III, Engineer

Enclosures

AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	of Utility	Northeast	Woodford	l Water Distri	ct	
The fo	ollowing is an itemiz	zation of expe	enses for	providing a n	netered servi	ce connection.
A.	Meter Size					
	5/8-Inch 🗆 3/	4-Inch □	1-Inch	1 1/2 -lr	ich 🗆 2-	Inch 🗆
	Other (specify) _	5/8	x 3/4		_	
B.	Materials Expens	<u>se</u>		Unit Quantity	<u>Cost</u>	Total <u>Cost</u>
1.	Water Meter			1	\$107.00	\$107.00
2.	Meter Yoke			1	\$ 92.05	\$ 92.05
3.	Corporation Stop			1	\$23.12	\$ 23.12
4.	Meter Box and To	op q		1	\$ 76.29	<u>\$76.29</u>
5.	Miscellaneous Fit	tings			***************************************	
6.	Other (Itemize)					
	Multi purpose fitti	ng		2	\$12.76	\$ 25.52
	M X U Transceive	er		1	<u>\$110.00</u>	\$110.00
	Saddle			1	\$ <u>55.85</u>	\$ 55.85
	TOTAL MATERIA		SE			\$ <u>489.83</u>

C.	Service Pipe Expense				
	Type of Service Pipe PE Size of Service			oe <u>3⁄4</u>	
		Unit <u>Quantity</u>	Cost	Total <u>Cost</u>	
1.	Short Side Service	5'	\$0.25	\$ 1.25	
2.	Long Side Service	60'	\$ 0.25	\$15.00	
3.	Casing Long Side	40'	<u>\$ 1.65</u>	\$66.00	
	AVERAGE SERVICE PIPE EXPENSE \$\frac{41.1}{2}\$ (add total cost and divide by 2)				
D.	Installation Labor Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	4	<u>\$28.60</u>	\$114.40	
2.	Long Side Service	16	\$28.60	<u>\$457.60</u>	
	AVERAGE INSTALLATION LABOR EXPENSE \$286.0 (add total cost and divide by 2)				
E.	Installation Equipment Expense				
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>	
1.	Short Side Service	4	<u>\$40.00</u>	<u>\$160.00</u>	
2.	Long Side Service	<u>16</u>	\$45.00	\$720.00	
	AVERAGE INSTALLATION EQUESTION (add total cost and divide		PENSE	\$ <u>440.00</u>	

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>			
Insp	pection	0		**************************************			
Site	· Clean-Up	1	<u>\$65.00</u>	<u>\$65.00</u>			
Oth	er						
-		-		- Landerson - Land			
		·					
AVI	ERAGE INSTALLATION (add total cos		OUS EXPENSE	\$ <u>65.00</u>			
Ove	Overhead Expense						
1.	Installation expense						
	overhead rate	(%)		\$ <u>N/A</u>			
<u>Adı</u>	Administrative Expense						
1.	Office expense for e						
	and billing red	cord.		\$ <u>20.00</u>			
Tot	al Expenses						
Ma	terials Expense	\$ <u>489.83</u>					
Sei	vice Pipe Expense	41.13					
Ins	tallation Labor Expense	286.00					
Ins	tallation Equipment Exp	440.00					
Ins	tallation Miscellaneous	65.00					
Ove	erhead Expense	<u>N/A</u>					
Adı	ministrative Expense	20.00					
TAL C	ONNECTION EXPENS	E		\$ <u>1,341.9</u> 6			

AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	of Utility	Northeast	Woodford W	ater Distr	ict		
The fo	llowing is an ite	mization of exp	enses for pro	viding a r	netered s	ervice cor	nnection.
A.	Meter Size						
	5/8-Inch □	3/4-Inch □	1-Inch X	1 1/2 -lı	nch 🗆	2-Inch	
	Other (specify)			·			
B.	Materials Expo	<u>ense</u>	Unit <u>Quantity</u>	<u>Cost</u>		Total Cost	
1.	Water Meter		1	\$ <u>183</u>	.25	\$ <u>183.25</u>	
2.	Meter Yoke			<u>\$184</u>	.72	\$184.72	
3.	Corporation St	ор	1	\$ 35.	29	\$ 35.29	
4.	Meter Box and	Тор	1	<u>\$108</u>	3.85	\$108.8 <u>5</u>	
5.	Miscellaneous	Fittings	The state of the s			***************************************	
6.	Other (Itemize))					
	Saddle 8" x 3/4"			1	<u>\$55.85</u>	<u>\$55</u>	5.8 <u>5</u>
	M X U Transce	eiver	nga na nanananganan	1	\$110.00	<u>0 \$11</u>	0.00
			And the second s	The second secon	***************************************		- Company of the Comp
	TOTAL MATE	RIALS EXPENS	SE			\$ 677	'.96

(add total cost)

C.	Service Pipe Expense

•							
	Type of Service Pipe PE Size of Service Pipe 1" CTS						
		Unit	Cost	Total Cost			
		Quantity	Cost	Cost			
•	Short Side Service	5'	<u>\$0.39</u>	<u>\$ 1.95</u>			
•	Long Side Service	60'	\$0.39_	<u>\$23.40</u>			
	Long Side Casing	40"_	<u>\$1.65</u>	<u>\$66.00</u>			
	AVERAGE SERVICE PIPE EXPENSE \$45.68 (add total cost and divide by 2)						
٠.	Installation Labor Expense						
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>			
•	Short Side Service	4	<u>\$28.60</u>	<u>\$114.40</u>			
•	Long Side Service	16	<u>\$28.60</u>	<u>\$457.60</u>			
	AVERAGE INSTALLATION LABOR EXPENSE \$286.00 (add total cost and divide by 2)						
<u>.</u>	Installation Equipment Expense						
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>			
	Short Side Service	_4	\$40.00	<u>\$160.00</u>			
•	Long Side Service	16	<u>\$45.00</u>	\$720.00			
	AVERAGE INSTALLATION EC	QUIPMENT EX	(PENSE	\$ <u>440.00</u>			

(add total cost and divide by 2)

F.	Installation Miscellaneous	<u>s Expense</u>					
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>			
1.	Inspection			***************************************			
2.	Site Clean-Up	1_	<u>\$65.00</u>	<u>\$65.00</u>			
3.	Other						
	`						
	AVERAGE INSTALLATION (add total cos		DUS EXPENSE	\$ <u>65.00</u>			
G.	Overhead Expense						
	1. Installation expense						
	overhead rate	€ (%)		\$ <u>N A</u>			
Н.	Administrative Expense						
	1. Office expense for e						
	and billing red	cord.		\$ <u>20.00</u>			
	Total Expenses						
	Materials Expense	\$ <u>677.96</u>					
	Service Pipe Expense	<u>45.68</u>					
	Installation Labor Expense	286.00					
	Installation Equipment Exp	440.00					
	Installation Miscellaneous	65.00					
	Overhead Expense	<u>N A</u>					
	Administrative Expense	20.00					
TOT	TAL CONNECTION EXPENS	E		\$ <u>1,534.64</u>			

Entire Service Area

Community, Town or City

Northeast Woodford Water District 225-A Main Street Versailles, KY 40383

P.S.C. KY No.

3rd Revised Sheet No. Cancelling P.S.C. KY No.

2002-00332

2nd Revised Sheet No.

CLASSIFICATION OF SERVICE

RATE PER UNIT

CONNECTION FEE

5/8" X 3/4" Water Meter

\$1,350.00 (I)

1" Water Meter

\$1,550.00 (I)

For sizes other than listed above, the cost shall be the actual cost.

Date of Issue	September 1, 2009	Date Effecti	ve October 1, 2009
Issued by	hn S. Davis	Title:	Chairman
Jo	hn S. Davis		
Issued by the a	authority of an Order of	the Public Se	ervice Commission of
Kentucky in Ca	se No	Dated	

NOTICE TO THE PUBLIC OF CHANGE IN TARIFF WHICH RESULTS IN INCREASED RATES

To the PUBLIC SERVICE COMMISSION, FRANKFORT, KENTUCKY

Pursuant to the Rules Governing Tariffs, I hereby certify that I am the Chairman of the Northeast Woodford Water District, a utility furnishing water service within the Commonwealth of Kentucky, which on the 1st day of September issued its Revised Tariff Sheet Number 1, cancelling Tariff P.S.C. No. 2002-00332 Original Sheet No. 1 and that notice to the public of the issuing of same is being given in all respects as required by Section 8 of said Regulation, as follows:

On the 1st date of September, 2009, the same was exhibited for public inspection at the offices and places of business of the District in the territory affected thereby, to wit, at the following place: 225 South Main, and that the same will be kept open to public inspection at said office and place of business in conformity with the requirements of Section 7 of said Regulation.

Given under my hand this 1st day of September, 2009.

John S. Davis 225 South Main St. Versailles, KY 40383

NOTICE TO THE PUBLIC

Northeast Woodford Water District has filed an application with the Public Service Commission for a proposed rate change for water meter connection fee.

Connection Fee

5/8 x 3/4 water meter

\$1,350.00

1-inch water meter

\$1,550.00

For sizes other than listed above, the cost shall be the actual cost.

The rates contained in this notice are the rates proposed by Northeast Woodford Water District. However, the Public Service Commission may order rates to be changed that differ from these proposed rates. Such action may result in rates for consumers other than the rates in his notice.

Any corporation, association, body politic or person may be motion within thirty (30) days after publication or mailing of notice of the proposed rate changes request leave to intervene: That the motion shall be submitted to the Public Service Commission, 211 Sower Boulevard, P.O. Box 615, Frankfort, Kentucky 40602, and shall set forth the grounds for the request including the status and interest of the party; and intervenors may obtain copies of the application and testimony by contacting the applicant.

The rates are scheduled to take effect October 1, 2009. The application is on file at the offices of the Northeast Woodford Water District, 225 E. Main Street, Versailles, Kentucky and is available for examination during business hours.